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ESWT & Teh §CUTE 1 I fAflaT |
KPR

Write the name of a port of Harappa.
Lothal

S g 1 FE HEqOl Hifereh fagT @ :
st

The most important fundamental principle of Jainism is :

Non-violence

FrfaRad 9 § fore 3o < SR H 95 § TogHI ol FoRed o &9 H 3TeThd fohal =T AT 7
T3 11

In court of which among the following rulers, numerous scholars were adorned as
‘Navratnas’ ?

Chandragupta I1

Teoeft Toad o Ftafga Tseen # 9 forga 9e8 0 31afY a6 wmed foam ?
Raersht

Which among the following dynasty of Delhi Sultanate ruled for the shortest time ?
Khilji

SoTaist 3 WA 1 fsrfesr g & fow 379 1 sheal § foram |
geuHifa s aem

Through the , Dalhousie annexed Awadh for the British empire in India.
Doctrine of Lapse

frfaiRaad o & foreh g <1857 <t Shifa” shi STTA <hi T off ?
forenfeat

“The Revolt of 1857 was started by whom among the following ?
The sepoys

EUIGR: AT o eiH,  Tam S T (e, 80 3T dien) Tesims fomam mam o |
et
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During the movement in Bengal, a tricolour flag (red, green and yellow) was

designed.
Swadeshi
8. WA hl el il <ht TaT & foru, o= T i 4 U Raetmha |firfa &1 e
ERIREIIN
To defend the Khalifa’s temporal powers, a Khilafat Committee was formed in Bombay in
March
1919
9. WA TR AN, 1935 o ITIR T =Arnefisr o @rer foha =mnefieti hi fRyfw 1w off ?
How many judges were appointed along with the Chief Justice according to the Government
of India Act, 1935 ?
6
10. Tr=fafga 9 @ w5 @ gear 6 gfafsran @ vra Sl e I/ /=T o7 7
et orer <6t fersherar
In response to which of the following events Quit India Movement was launched ?
Failure of Cripps Mission
11. 3R gad Joft § ged a1 PR smarg ?
TRRREX
The highest point in the Aravalli range is :
Gurushikhar
12. TisAehTet H IR BEHT H 984 dTeft o haard! & :
KN
The wind blowing in the northern plains in summers is known as :
Loo
13. R h! AHH-ARR @1 3 :
82° 30" I, TR
The Standard — Meridian line of India is :
82° 30' E longitude
14. WY & f=feriaa § @ form et & “Aftrmog” diefeemm srafera g7
T
In which of the following districts of Uttar Pradesh is “Naimisharanya” Pilgrimage situated ?
Sitapur
15. M 91 qo4 el AR e g 2
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TR—
Which is the highest Indian peak ?
Kanchenjunga

16. 3 3T fifd o1 A= foshE & Hige o &4 H off ST @1 R |
New Economic Policy is also popularly called model of development.
LPG
17.  1s off Hut T Tt Ut B afe 30T 1 T & Yol TR o JUHR H Bl & |
51 st
A government company is any company in which the paid up capital held by the
government is not less than :
51 percent
18. “EITHIS: TR o1 SUAT {1t | & formss frw g @ 2
SR
“Hallmark™ is used as a logo for which one of the following ?
Jewellery
19. ST T IO &1 Rl o —IINOT i AT Teh et AT I T B |
q1eTS (NABARD)
is a central or apex institution for financing agricultural and rural sectors.
NABARD
20. 1991 % 3Tie Guri b gRI 1 1 & fopm Tme sht 3TR e fear wmm o

forcft 951 WeR # wehe
Which among the following was the issue being addressed through the Economic Reforms
of 1991 ?
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Crisis in Foreign Exchange Reserves

21.

= 3 & o9 o 3rg=se “oF g w1 aifyd wear 8 7
TG 110

Write the name of Article which defines the Money Bill.
Article 110

22.

9 FTes & T U= i Hifedt w1 Fmio st g9 s § W =Ry |
T Hifa & Frese Rigia

are the ideals that a state must keep in mind while framing policies.
Directive Principles of State Policy

23.

=1 4 9 fores HifeTes shdedl ol Seciftgd foran T g ?
HA-IV

The Fundamental Duties are mentioned in which among the following ?
Part-IV A

24.

TR Tferer sh1 3Tgeedg 343 Fpap aR A R 7
e <Y TTHTST

Article 343 of Indian Constitution is about :
Official language of the Union

25.

= 5 @ i = gat= e W =i 6 dar-frgfy 6 wd smg R 2
65 %

Which among the following is the correct age of retirement of Judge of Supreme Court ?
65 years

26.

T3 T | I |1 S5y o §1d O H 9 T TR B 7
qhe

Which of the following is not among the seven colours of the rainbow ?
White
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27.

= 1 9 forg Mg <p1 g 119 o &9 | 981 ST a1 2 2
AT

Which of the following gases is not known as greenhouse gas ?
Argon

28.

SR Erer fordeht T=fed A 8 7
Hifsay wEHe

Washing Soda is the common name for :
Sodium carbonate

29.

I 81 (Hole) fpm@ weifera & 7
HHAT e | IS d shl 7S d HHI T |

Ozone hole refers to :
decrease in thickness of ozone layer in stratosphere.

30.

WY 379 TNeh I GEa: el o T Hd & 7
LD

Where do plants receive their nutrients mainly from ?
Soil

31.

(625-2.23) x (3.35-2.23)+(0.0016 —2.987) =
1.517

32.

ferem foehre w1 § TSt <t s=d 1 U fagte T, ufestss mifade we o 3uehl o= & 3nd &
TR B | TS 3T I8 PoT 5=d o &9 H T 1,50,000 B, 1 38 ufecte Nfee % # feva
SAAHI B ?

One-third of Manoj’s savings in Kisan Vikas Patra is equal to one-half of his savings in
Public Provident Fund. If he has ¥ 1,50,000 as total savings, how much has he saved in

Public Provident Fund ?
60,000
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33. 7 3hiteh HEATST T 3G 20 8 | 37 SIS H § TeE o TS 1
The average of 7 consecutive numbers is 20. The largest of these numbers is :
23

2_ _ 2
34. WW:UHB) (76-84)" _ ?

76X84
7648 )2—(76-8 )2
Simplify:( ) —( Y = ?
76X84
4

35. V9 +445=
2+4[5

36.  “enmr” o1 O Afy foevg B -
g0+ W

37. Gnd Ieg ‘3Afo1- el veg I w1 A AT R R ?
-t

38. “9TR R YA Ise & —
Iq

39. “TH” 1 foam s B -
TeE

40. “ieg B S AT HT A 8 —
Tt g %™ U o @I |

Read the passage carefully and answer the corresponding questions : (Q. 41-42)

Going to an all-boys high school was no fun. Joe’s parents thought it would be a good idea
to send him there instead of a public school because “he would get distracted by girls,” as his
mom would say. Once, during his third year, Joe begged his mom to let him go to public school.
“I just want to be normal,” he would tell her. “I want to meet girls. I don’t want to be weird.” But
his words always fell on deaf ears. Mom always said that Joe had plenty of time to go on dates
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after high school, and that he needed to concentrate on his school work. This usually made him
very sad, but like a good kid, Joe just nodded his head and went on with his studies. That all
changed one day when Joe met Carmen, who lived just two blocks away from him. One day he
ran into her at the market by chance. They had gone to kindergarten together. They were also of
the same age. She was in Joe’s class, and she remembered Joe, too.

After about two weeks, they were going steady. Joe was so happy, but had to hide his

relationship from his parents, which was okay because Carmen was hiding him from her family,
too! “Are you kidding me ?”” Carmen said, “They would kill me if they knew I had a boyfriend!”
Everything was going great for a time, but Joe’s mom was right. His grades started slipping, and
he soon was on academic probation because he was spending too much of his free time with
Carmen. She also dropped a grade or two. As a result, both of them had to go to summer school to
improve their grades, but Joe didn’t care. He was in love and that was all that mattered at the time.

Much later, he came to realize his mom was right.

41. Joe’s mother did not want him to go to public school because
Joe would get distracted by girls

42. Where did Joe meet Carmen ?
Market

43. Choose the correct synonym : “random”.
accidental

44. Choose the correct antonym : “beautiful”
ugly

45. Give one word substitute of : “sensitiveness to the action of a particular food”.
Allergy
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46. I <hl 3TN ST HLd FC EMfdeh  Hel, “Th Fhalld E HI A R Tt HT 9g - 2 17
BT fohe TehR BTfGeh & Haferd 2 2
gLl 5§
Pointing to Falguni, Hardik said, “The son of her only brother is the brother of my wife.”
How is Falguni related to Hardik ?
Sister of father-in-law
47. feu e fashedi # @ S1ETd 1 99 HIT :
Choose the odd one out from the given alternatives :
4125
48. 8:20 91 T TS & = hi 3 3TN firde 1 g3 & off= 1 o1 71 i |
Find the angle between the hour hand and the minute hand of a clock at 8:20.
130°
49. Treferiad wea # & wuw feu & @ 3 3@ =) fwwd (1), (1), (1) w6 (V) feu 7 # | 3|

Torsee (wT) o1 = <hifSTe S anfehes 9 @ feu 7Te ST ST STTER0 HEAT R/ & |
HYT : g TS Sl T8l & |

ooft g fafeeai 2 |
frreenet
(I) ¥ cramn forceft T 2 |
(1) e foreefl qams & @ |
(1) $o fafeeai g & |
(1v) weft fafoerat o € |

had (110)
In the following question, two statements are given, which are followed by four conclusions
(D), (II), (IIT) and (IV). Choose the conclusion(s), which logically follow the given statement.
Statement : No door is dog.
All the dogs are cats.

Conclusions :
(D No door s cat.
(I) No cat is door.
(III) Some cats are dogs.

(IV) All the cats are dogs.
Only (III)
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50.

If¢ SCHEME ! TDIFNF % &9 H %hicd foham SIrar &, @ WONDER o et 31 e 8 2

If SCHEME is coded as TDIFNF, then what is the code for WONDER ?
XPOEFS

S1.

freferfiea ® & &9 & <91 202 g & wefid & 2
WA — 5 — U5, — 3 TH.T.

Which of the following countries are associated with the ‘12U2 Grouping’ ?
India — Israel — UAE — USA

52.

A Teheftehl TH.UA.S. 7 a1 1 3ThNd i o foTu Areehia TN I T b
T AR 1 2 |
Jregforn

NASSCOM partners with government agency to attract investment for Indian tech
SME:s.
Australian

53.

THR o T arefl VAT 3 BTe & § YRd 5 Heherd T ol <rd S b a1l
3I~Td N-3e <6t 3gfet & |
w9

state-owned Rosatom recently supplied upgraded N-fuel to India’s Kudankulam
plant with longer fuel cycle.
Russian

54.

T @re grear AfafEm (NFSA) o T Ik Faehieh’ § A= 3oft & U= T
S R |
anfesm

state topped amongst the General Category States in ‘State Ranking Index for
National Food Security Act (NFSA)’.
Odisha
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55S.

1. TNig wETe Hfd qahn freferfad | & frg s  wafia 7 2
SIC RG]

Dr. Rajendra Prasad Memorial Award is associated with which among the following fields ?
Public Administration

56.

1 5 & forg T H YRA & JUH 37d GO 1 3gHTeA fohdll 7T 7
FHR e

In which of the following states India’s first ever ‘Amrit Sarovar’ was inaugurated ?
Uttar Pradesh

57.

frferaa # @ fore U= H g &1 # U T HER T T E ¢
TSIEIT

Uranium Mining Reserves have been found recently in which of the following states ?
Rajasthan

58.

FafTRad o & fope TT H ST | <haa il LG g dR g0 iy 37K fohe e < e wrag
Q0T TR & ohl T B 7
ELIICES

In which of the following states, Honey Testing Laboratory has been launched by Union
Minister Narendra Singh Tomar for Agriculture and Farmers Welfare at Dimapur ?
Nagaland

59.

frferiaa o @ fora st 3 e wem “Sfvae Ty qEWTe AN & i 8 7
Which among the following companies has launched an industry-first ‘Global Health Care’
plan ?

Bajaj Allianz General Insurance

60.

Toeneet . 8. wm. s1gd 3R SAThatrsa 30318, fohe ot g afi-a fpan T & 7
Tt

‘Wearable ATM Cards and Offline UPI’ has been launched by which company ?
Acemoney

61.

frefetiiad o @ 6 | WRd & ) TSE ga ew g ?
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Hfietent; T
Which among the following are two neighbouring island countries of India ?
Sri Lanka; Maldives

62.

frferfiaa & & i €t S T R 7
T

Which among the following is the capital of Oman ?
Muscat

63.

frefafead @ Teh ohg, M Y& <hl TTETHT T 2 |
AESS

Among the following is not a capital of Union Territory.
Aizawl

64.

fr=ferfiaa 3 @ i e g & yom sreer (Tfie) 9 7
OIS TR

Who among the following was the first speaker of the Lok Sabha ?
Ganesh Mavlankar

65.

R T “3TRSH %fireh feam fopm feq wAmn sman ® 2
193

‘The International Workers’ Day’ is observed on which day in India ?
1 May

66.

frerforRaa § @ fore 9rat o1 TS 1 “Hihe 180 a1 8 ?

Which among the following cities is called the “White City’ of Rajasthan ?
Udaipur
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67. “wTS wetewar Freferfian & forw wrow & smafora fepan e 2 7
AR

“The Sangai Festival” is organized in which among the following states ?
Manipur

68. T TS HIEHI BT TFIT WA & :
CLEIC]

The National Game of the USA is
Baseball

69. frfaRaa o @ fopm =t 3 “feg woe” geaes foreft 2 2
AT et

Who among the following person wrote the book “Hind Swaraj” ?
Mahatma Gandhi

70. <gid orareR (fiF sreprefe) @1 31 8 % 3TTheT ol EIH T T&d §U o <hl TP 3T
<hl HIUA |
TGN TS qia J1
‘Green Accounting” means measuring the National Income of the country taking into

account estimation of
Pollution and environmental damage

frefafad 39<eg ! Yght I8 T =T (V. 71 8 75) & ST N |

U THT | S AR ¢ <l TaT BT I8 9, 9 F A § 317 | 319 wfasy Y Fan s g
1 1wl Tar § @ AT | IS Y ASTE o HHI b ANTH oh 376U T < YW 7| g © A A
JTHTET o AT H JSH TLHRI bl b B o off, IiEaR 1 @ @ fean on 3R 5t 7 6
319 0T BT H1E 0k Big feam on| foha € w=t <ok g9 Swdt <hi i § wwn e 3R sfoeme o
ST AT T T8 8 | 9 oft gAR o H IR Jar € S SrerT-3tent uidf % Wiy 98 gu # |
JEILIHAT T T I AR LA TTeT Feerert gadt a1l H =t SITd 8 | TR <l AW H:Heg 7 sl wfd
AT S @1 8| TR ¥ A 3hi STREATT 61 RehR et S @ 2| Wi, 5, fashed 3R B % 3
IS 3N G Y HEH! B TR ATe1h TTATERT HIATEAqU! &1 T ]| STl 2@l & Jdraft T 3|
AT I B T TS 1 Tk SATRR 3Te T ST ITEdT B, 9ol & SEehT IS ST i STl 7 8|
ST | glaenaa 1 I S g A 39 3T DI fhel T-AgRIST | %A T T | fagw e
T SATS ShId & | TT § 3 & T ol —oreet 9oy feu S 2, 7ot 361 St 2, forehew 31t et &
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Y3 AMIG IR 9T hl HEH W3 AT 7, Gl A T hIEg ISTA A1 8| AT—ah THRUT €19, TH,
Tg 3TR W =i 1 TR—IRT Shieh 37T TTAed Toh Tgd STd & | UH TSI-T ¢¥ o Jaehi ol Teid feun fe@md
8, T 379 Al i T § UeH Weld & | 3 STS! a¥8 THENd & 1oh HUd hl =Sl o oATerd H ST 3%h
die e el | 3 ol T =men fop i farfra grent 3tae stfirel % wfd Strees w4

71.  ITITOE % YR T FATST foh TSt o SRR AT AE TN o TIT STa1 hl S € geiera]
I BRI 33 & ? T T ST HH AT ?
TG Sfia o ToTT ST Sl T <l =it o T ATIGT id &l

72. a1 H®i1 T =rEd foh o i geet 3T 3ifieRr W wfd SrTes S 7 Hed Tl dehgh ST
SR ?
Torfara <imr 2199 die it IrEet Hia T § 3R i TR g8 % YR W S W
Tt < RN <! fermie 24§

73. Fraforfed o e & g o st B S it fosivar oft, St 31 o Janstt ¥ fewrs 7E uedt ? g9y
&I TohIh SR BA ATE ?
JATSTE | Y& o 1 o Sl T i o ToTe TSI § 3T |

74. A JAT AT-h TR G, M, §8 R We ATl 1 IF0 Hh 9 Ta d% Ugd A Bl
AT T TAST B AR 7 TIH T Tehgh SR B AT S ?
St g few e et & AT S

75. A1 A UTE 1 Seerd 8 7 T el dehdth STLhA AT R ?
- fafg & fore gut urdt Siget 7€ urdi & 3w

FrfeaRaa 31=eg ! Tt I8 T I=H (3. 76 & 80) & TR &I |

foremt =1 AR Sfie ® T T gidT ? | g0 39 foam i 8, et JehR bt Trenat i 319 e
o 3renfid i 81 Afe gn Scameg 3R 31e & fomaml # w8 2, 1 Sfieq 1§ 31t ge13ti ! 3resfia
A & 3R 39 fawdia frem o fan & fomm Sftem 3 geemati w6t omoft 3R diea 81 gl s
forgema S+ H1 2 | Tfe 70 W W AT 3197 996 97 W T favard a8, a1 fefa otem Bidl @ 3k
Ifg g9 39 Sfiad | ThIIenss T Wd & 2, df gART Sfiae SR o STeepr & S S| &1 319
FHuft Sfiae o Ted areft TeTat 3T 31U 37T i 3G THY i UMb fomamrenss ferfa w1 3ream fepan
? 7 Ife 319 379N, Icpootal 3TN SATcufavar i Sl & AU &, df i -fafg 3 awerar & sgd
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a8 39k faadia frrem, a1, & 3R Teg o @ fore e fot wed Terd 3t wwheran o faadia g
TR 3T T Feel & foemm™ T&d 8 31 3781 o 1 garl AHees feurfd seerd! &l 8| 3 u-Em
JY e, ek, FerenTel= 591, Ted fuan, W=, fem snfe & wia ger g Bid 8 3 o 56y deh
! el g6 IReh, UM 3T WTaATcas €9 d W §91 Fehal &1 3TN, Icpoetdl, TH-TT,
gehM, ffveaan, wifa, wqfe, faveam, 31 anfe wre AT Bid § 3R o5 T o $h 31d
G AT, |9l 3 Sl UTH 31 ST @kl 21 %8 ST = SART gRT 39 a2 sh1 gfE <l 8| 31
B A 3 Torami T &I AT & L ¢ 1 gHIT 1 WV T St Tohd o | SG1 H TCHTCHT 6 J@T SRl
HTGR AT WG haal I4g faga: |7 wt femen | e fomm 5 o7 3 |

76. Tfriea @ fop ot o wnft wire AT © 7
AT, Icpeetal, JE=TdT, TehH, Fivaaar, agfy, rafava™

77.  SHN STe shel U o ST 8 WSS ?
ST shi, XMk, 351, ToiaT, 1 3A1fe ETdeh AT ol {0 deh 9T <fierar & &6 gwifa
HWE |

78. T 13Tl o1 379 Sfie § 3TN s & fou g6 @ e =nfau 2
T TGS R foramd @ Tt afgfa A =Ry |

79. 3T QT Shi TV H h¥l SIGetl ST Hehdl & 7
H9 HiETSh & Tl W &M ot STa R T&HTeRs o= g |

80. &9 HE-faflg 3N TwId % TgA T HE B & 7
STE & ST, et SR STHISTAR <hl He1l | SATasid &l & |

Y. 81 F 85 : Fr qrfetent Teh wdien § U1 B gRI ATHT-3Te1 B8 oI5l § UTed 37! o Tfaerd =l
Tt B | 3TThel ol TradTigee ufer g JeA1 o I <Y -

Q. 81 to 85 : The following table gives the percentage of marks obtained by seven students in six
different subjects in an examination. Read the data carefully and answer the questions :
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o= (ziftresom 3i) / Subject (Max. Marks)
o/ [sfe / | / | st / %::/ et / | e /
Student| History | Maths | English Hindi | Computer
Biology

(150) | (130) | (120) | (100) | (60) | (40)
sifwa/| 65 35 50 77 80 80
Ankit
Few/ | 80 65 85 95 50 90
Brijesh
fem/ | 90 60 70 70 90 70
Chirag
fe=m/| 70 75 65 85 40 60
Divvesh
R/ 90 50 90 60 70 80
Ehan
wEE | 100 80 30 40 80 70
/ Faruk
Tirw / 80 65 80 80 60 60
Gautam

81.

IS 8 Aeft ATa STET G TS ST 3d 37k ok § 7
What are the approximate average marks obtained by all the seven students in English ?
89

82.

vt fawti § 60% =1 389 31fereh 37k U St Tt BT o1 G fhal 8 7
The number of students who obtained 60% and above marks in all subjects are :
2

83.

ovft o7 fawai § wgm g uTed %ot 37 feha & 7
What was the aggregate marks obtained by Ehan in all the six subjects ?
442

84.

= 4 9 fopm fowar & oo wowma =man 2 7
Tfora

In which subject the overall percentage is lowest ?
Maths

8s.

IR T A Faerd (erTe) fopan g 7

What is the overall percentage (approximate) of Brijesh ?

01

16 MASTER




78%

. 86 8 90 : f= arferent b1 TrawHiIgde ez Hife 3R weT o I AR |

vd o gu1 °H X Ul gr i (&9 #) 5 TR 6 BT (A, B, C, D, E) 31 T % 3iishe 4 fed M
g

Q. 86 to 90 : Study the following table carefully and answer the questions.

Data of Number of 5 types of cars (A, B, C, D, E) manufactured (in thousand) by company X
over the years given below :

HR F THR / Types of car
g / A B C D E

Year
2016 230 200 125 130 115
2017 240 220 228 165 212
2018 250 215 212 230 218
2019 260 215 230 220 125
2020 230 135 240 120 120
2021 255 130 250 220 130

86. ¥ 20169 2021 o R X shul gry fifta sl § & forg wehr <hl s <hl g s1fehan @ 7

Which type of cars manufactured by company X during 2016 to 2021 is the maximum ?
A

87. 92016 ¥ 2021 Teh HR ‘A’ % IcTE H ITIATHA Jhg fehar wferera 1 off 7
What was the approximate percentage increase in the production of car ‘A’ from 2016 to
20217
10.87%

88. fireel aui # forg YehR 31 R % IATeH | Tad g gl HTE 7
Which type of car registered continuous increase in production over the years ?

T4 Y IS 781 / None of these

89. Y2016 W ‘E’ &l 3cdTe, oY 2019 H R ‘B’ h IcdTeH hl 1T fehd Tfasra o 7

The production of car ‘E’ in the year 2016 was approximately what percent of the
production of car ‘B’ in the year 2019 ?
53.5%

90. =¥ 2018 ¥ 2021 % SH HR ‘D’ & IcuTe # T fehat wferrd b1 et 58 2

What was the approximate percentage decrease in production of car ‘D’ from 2018 to 2021 ?
4.35%

MASTER 17 01




T. 91 | 95 : f1 =TE Uk YAk o UHRM H S5 T @ 1 Widwra faawer gwiar 8 | g =9

I I 3 39 W 3muTid Tei o I e ;

Q. 91 to 95 : The following chart shows the percentage distribution of the expenditure incurred in
publishing a book. Study the pie chart and answer the questions based on it :

LEBERSIG
Promotion cost
UiegT ArTd 5%
Transportation cost
5% I
O gERY AR
Toredt * »| Paper cost
0,
Royalty *x X 0%
20% %
*
C
[
TeeaTst T 0T T
Binding cost Printing cost
15% 25%

91.

Jfe qeen o1 Teh Ffead A % o7 Jehteres @i 3 20,600 T5UT SN o &9 H <A1 &Il &, a1 31
ekl o foTT et 1 ferat wohm ¢t gt 2

If for a certain quantity of books, the publisher has to pay ¥ 20,600 as printing cost, then
what will be the amount of royalty to be paid for these books ?
316,480

92.

L ANTd T fohd T T % STIEY WUE (JFX) T el HIVT T8 7

What is the central angle of the sector corresponding to the expenditure incurred on
promotion cost ?
18°

93.

&I T U, AT Gl 8 20% W 3ifehd foham T & | Afe qeaeh w1 3ifehd qod T 160 7, a1
TEeh <h! Teh Ufel T U fopdl TR STt h) AT TR 7
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The price of the book is marked 20% above the Cost Price If the marked price of the book is

T 160, then what is the cost of the paper used in a single copy of the book ?
340

94.

g 5200 Sl w1 FepTeH TR TR 3R ITHT ufEea emTd TR T 80,500 7, A Tk H
I forshar st o a1t =1fee ik TehTeteh 25% T ot 3Tfofd st |eh ?

If 5200 copies are published and the transportation cost on them amounts to ¥ 80,500, then what
should be the approximate selling price of the book so that the publisher can earn a profit of 25% ?
T 387.02

9s.

e < Udeel, ool rTd o fehed Ufasra su 8 7

Royalty on the book is less than the printing cost by :
20%

Y. 96 9 100 ; 7/ Ta1 1% Tk hul R0 9N 2001 " 2007 o S0 fohd T 31T hl THH 9 39 U]

i frafa 6t wm 1 37U gt B

Q. 96 to 100 : The following line graph gives the ratio of the amount of imports by a company to
the amount of exports from that company over the period from 2001 to 2007 :

e & 961 7 U S b A -Frta ge w1 SrE
Ratio of Value of Imports to Exports by a
Company Over the Years
2
1.5 12

1 08 0.9
0.6

0.5 0.3
0

15 1.6

2001 2002 2003 2004 2005 2006 2007

Y / Years

96. 3¢ ¥ 2004 H TATA T 240 HUS AT 3T W 2004 TF 2005 1 ol T AT T 500 IS AT,

qras 2005 § 37T fehaHT o ?
T 450 HUS

If the imports in 2004 was ¥ 240 crores and the total exports in the years 2004 and 2005
together was I 500 crores, then the imports in 2005 was :
T 450 crores

MASTER 19 01




97.

form o o ot o S1rITa, fata o Steqam Ui 9 7
The imports were minimum proportionate to the exports of the company in the year :
2003

98.

T 2003 ¥ 2004 T T | fehar wfaera gfg 53 off 7

What was the percentage increase in imports from 2003 to 2004 ?

321 YA / Data inadequate

99.

Ife 2002 | YT T T T 260 HUS AT, a1 2002 T w9 § =ia o
T 325

If the imports of the company in 2002 was ¥ 260 crores, then exports from the company in
2002 was :
T 325 crores

100. o3 73 9wt 0 9 fopaw aut 0 =l m=ma & At o ?

In how many of the given years were the exports more than the imports ?
4

01
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